Macro Economics

B.A. Part-1, Paper-2

1.Net National Product is —

QEET TSET 3G ¢ -

(A) Gross National Product + Indirect Tax (Fehel TSI 3cUTG, + 3TcTaT )
(B) Gross National Product - Indirect Tax (Hehel TSR 3cUTG, - 3TTcT8T )
(C) Gross National Product - Depreciation (Fehel IS¢ 3cUTG, - farTae o)

(D) None of these - <137 & &S oTgl

2. TSE AT Y I0T=AT ForeedT Iafer & forw & St 872

For what period is the national income calculated?
(A) One year - T ¥ (B) Two years -al a9
(C) Three years - T a§ (D) Five years - 9fg a¥

3. GIgY IoTAT |/ MUY §-
Double counting means-
(A) Counting the product more than once - 3c9TG T Teh & 37T X ITUTAT el

(B) Counting the product at different levels - 3cdTg &1 faf@ieeT TORT IR I0TAT T
(C) Calculating both the product and the payment - 3cdTe; T $JaTclTeT el ST IT0TAT FHTeAT
(D) Calculate the monetary value of the product - 3cU1¢ &1 Hifgeh Hed I IUTeAT .

4 National income is calculated

TSI AT Y TOTAT Y AT &

(A) At Current prices - Yaford A W

(B) At constant prices - €2 Hredl o

(C) Both Current and constant prices - Jafeld Td 2R =t HiHdl W
(D) On price ratios - H\Wﬁfﬂa’fq?

5. Intermediate goods are not included in GDP because

Fead! awga w1 S # enfarer ¢t R s § #=ife

(A) Such goods are difficult to define - THT TEI3T T TRHATIT HI=AT HiSeT &

(B) Such goods are not directly consumed - VHY GEI3T ST Te&TcT: IUHT g1 gl &
(C) They cannot be valued - 3a7aT H{ea feiRa ¢t foram o7 T &

(D) They create the problem of duplicity - 378 glg{qsT T FHEAT UeT gidT &




6. Gross National Product, Monetary Value is —

(A) Stock of goods and services - GE31 a Va3l & el H1

(B) Final goods and services produced in a year - 3Tl a&3il & QaT3il &1 it Ueh I H Scurfed
rarg

(C) Goods produced for sale in the market - STTR & S8l & foIT Scarfe e a3l &

(D) Goods produced for sale and self-consumption in the market - STSIR H STl @ TT-39HTT
o fore Scurfed awg3i &t

7. Net National Product at factor cost is-

| AT TX G TSET 3c9Tg gt 8-

(A) Equal to National Income - TSGR 3T o ST

(B) More than the National Income - IS¢ 3T & {8

(C) Less than National Income - ITSERT 3T § HA

(D) Always more than Gross National Product - T¢d el ISEIT 3cUTE, & TS

8. Which of the following is a method of measuring National Income?

fArfaf@a & ¥ sl s 37 F1 A9 H {2
(A) Income Method - 3 fafer

(B) Expenditure Method - =31 fafer

(C) Product Method - 3c4rg fafer

(D) All of the above - 3WRIFd Tt

9. The difference between GDP and NDP is due to
GDP 3R NDP & HE 3/aX T $ROT &

(A) Depreciation — HeIgrd (B) Indirect Tax - 39cTaT Y
(C) Subsidy - 3isIcTst (D) Direct Tax - 9cT&T Y

10. National income is calculated in India -

R A TSET 3T Y 01T Y AT @ -

(A) by Central Statistical Organization - &IF GIfEIH HITSeT GaRT

(B) by National Sample Survey Organization - XTSI Uil e THETT HITSeT SarT
(C) by Reserve Bank of India - ¥R Red d garr

(D) by Finance Ministry - faa@ #3TeT @Rt

11. GNP is more than GDP-
GDP & H&Tao GNP 31ftre gt &-

(A) due to Imports - 3TITAT & HROT



(B) due to Exports - faaTal & sRor
(C) due to receive in foreign income - faeeTT & UTCd 31T & FHROT
(D) due to Import duty - 3T Y[e<h & HROT

12. The main exponent of social accounting method was

AT dar afer & e gfaues &
(A) Fisher — R (B) Marshall - AT
(C) Pigou - fa] (D) Richard Stone - R=s T&i

13. Which of the following is a cause of difficulties in the measurement of national
income?

fArAfaf@a & ¥ i a1 TSHT 31T Y 01T F HfSATZAT FT FROT §?
1.Difficulty in collecting data - 3iTehS UhT et H HISATS

2. Difficulty of Double Counting - GIg<T IT0TAT T HiSATS

3. The trend of Barter System - a¥& fafei#ar JoTrell o1 Fereist

(A) Only 1 - hdel 1 (B) Only 2 - hdel 2

(C) Only 3 - hadl 3 (D) All of these - 3URIerd T

14. What is the main indicator of economic progress of a country?

foelt Ser Y 3 warfer 1 werrer Y FAT Y

(A) Number of countrymen - eraif&at fr@&ar  (B) Level of Education - T21&TT & T

(C) Per capita income - 9fd safad 3ma (D) None of these - 38 & &I
oTel

15. Which of the following equation is correct?

frfaf@a & @ Fia a1 a#ieor ag 2

1. NNP=GNP - Depreciation (TTTT4l = S{ITUT — HeIgTH)

2. NNP=GNP + Depreciation (TAUAUT = SHTUAUT + HeA5TH)

(A) Only 1 - hael 1 (B) Only 2 - shadl 2

(C)Both 1 & 2 — 1 3R 2 gt (D) None of these - S8 & IS =Tg

16. National income is calculated by -

TSET 3T Y 701AT Y AT -

(A) At Current price - Yol Shredr 9X

(B) At Factor cost - &R Hrerdil

(C) At both Current and Factor cost - Jaferd 3iR f&2R g1t Hredal ax
(D) On price ratio - HeITe]qTd T

17. Which of the following equation is correct?



fafaa & ¥ sia ar Ao 22

(A) GNP=C+I+G-(X+M)  SNTTUr = T + 315 + i - (TF + TH)
(B) GNP=C-I-G+(X-M)  SiiuaTdT = &Y — 375 — St + (Targ - UH)
(C) GNP=C+I-G-(X+M)  SfrweTdT = &Y + 37TS - S - (TFHA + TH)

(D) GNP=C+|+G+(X-M)  SfuaAdY = &Y + 311S + ST + (VFq - TH)

18. The National income figures are -

TSET AT F HThs BT & -

(A) Absolutely correct - qoT Har

(B) Real - ar&dfaes

(C) Estimate - 3{s]HTT

(D) By the share of labour in income - 37T & & & 37A A

19. Which of the following are not included in the three-sector economy under the
circular flow of income?

I & T YaTE & Addd Aeafaf@d # @ sl die e srdeaaear & anfAar adi 82
(A) Household sector - B[ &1 (B) Business sector - MR J&IT
(C) Government sector - TIhRT J&TT (D) External sector - ST J&T

20.Per capita real income means-

ufa safera areafas 39 #1 aead 8-

(A) Real National income / Size of population - arEATA ISET 3T / SHATEIT HI 3THR
(B) Real National income / working population - aRdfde ISET T / FIRIGRT STAGEIT
(C) Real National income / Number of workers - ar&dideh ISERT 3T / ST T TEam

(D) None of these - 131 & SIS aTal

21.Keynes's employment theory is based on which of the following assumptions?

Feq &1 Vo Rgia Frafaf@a & @ frw o o3 mafRa 87
(A) On assumption of short term - 37eqahlel sl AT AT T

(B) On assumption of long term - &reehTel T ATFIAT I

(C) Atboth Aand B - A IR Bl &)

(D) None of these - 318 & IS 6T

22. Effective demand depends on-

THTIqUT AT R Heh 3-

(A) On demand for consumption goods - 3T&T a%‘@ﬁ@f ANT )

(B) On demand for investment goods - fafei@ieT Hati a&3il & AT 1
(C)Onboth Aand B - A 3R BT



(D) None of the above - 3TRIFd H & FIS AT

23. The idea of consumption function was propounded by?

IYHNT ereT &1 (AR e garr wfaafee frar o ar?
(A) Prof. Hicks - 9. fgerd (B) Prof. Marshall - Y. &1l
(C) Prof. Keynes - 9. &= (D) Prof. Fisher - 9. ftheX

24. Average propensity to consume is equal to-

sitwa sasier ygfar fred awme gl §-

(A) Quantity of Consumption / Quantity of Income - 3Y$I3T ehT HTIT /3T Y ATAT
(B) Quantity of Income / Quantity of Consumption - 3711 &I #ATAT / 3YSIET T ATAT
(C) Income x Consumption - 31T x 3THET

(D) None of the above - 39RIFd & & HIS =TT

25. If the total income is Rs 50 crore out of which Rs 40 crore is spent on consumption,
then the average propensity to consume will be:

IfE FoT 3T 50 FN3 TUC & FFHd F 40 FN3 9T 3HWT R &4 giar ¢ af 3ihwa swsiver yghar
gl -

(A) 0.8 (B) 0.5
(C) 8.0 (D) 5.0

26. Marginal propensity to consume is equal to-

Hiere 39T g frad aXre g -

(A) Increase in the Quantity of Consumption / Increase in the Quantity of Income
- 3UHNT Y HTHT H gefer / 1 T AT & Jefor

(B) Increase in the Quantity of Income / Increase in the Quantity of Consumption
- 31T Y AT A gEf&r / 3usHier Y A= H g

(C) Quantity of Income x Quantity of Consumption - 31T &hT FTAT x 3THET ehl HTAT
(D) Quantity of Income + Quantity of Consumption - 3T T #TAT + YT bl AT

27. If an increase of Rs 100 crore in income results in an increase in consumption by
Rs 60 crore, then the trend of marginal consumption will be:

IfE 3T # 100 FT IIT Fofr & Hereawq 3THNT A 60 FN3 T Fftr gt & ar Woarer 3wt

et vt

(A) 0.6 (B) 6.0

(C)o4 (D) 4.0

28. What is the marginal propensity to saving-
Taa A AT agfar el -

(A) MPC + 1 (B) MPC — 1

(C)1-M.P.C. (D) 1 x M.P.C.



(C) 1 - MPC (D) 1x (

29. If MPC is 0.6 then MPS = will be:
If& MPC 0.6 £ @Y MPS = glem :

(A) 0.6 (B) 0.4

(©)o0.8 (D) 6.0

30. Which of the following is related to propensity to consume?

famafaf@a & & Fie a1 3weier i ygfr & w@afa 82

(A) Income and consumption - 37T 3iX 39T T (B) Only income - shdel 3T &l
(C) Only consumption - hael 3TSIT ST (D) None of these - 33 ¥ IS 7T

31. Who among the following studied the demonstration effect on propensity to
consume?

frafaf@a & & fraer susier ygfer o1 veeler werma &1 sreaae fmar?

(A) Hicks - fgerg (B) Keynes - fi=q@

(C) Fisher — fheX (D) Dussenberry — Sg8ARY

32. According to Keynes, investment is-

Fod & IR faferater & srfamT 8-

(A) Real investment - arEdide fafaaieT (B) Financial investment - =i fafa=aer
(C) Both A and B - A 3R B glat (D) None of the above - 3TRIed # & HIS el

33. The investment decision depends on which of the following: -

frafaf@a & ¥ fFw W R gat Aoy @i war -

(A) On the marginal efficiency of capital - Jait T HHTed &THAT N

(B) On the rate of interest - sITST &7 &I G

(C)OnBoth Aand B - A 3R BaHi ©X (D) None of the above - 3TRYeFd & & HIS AdT

34. Along with increase in the Quantity of investment, Marginal Efficiency of Capital
(MEC): -

faferaier it @ F geftr 8 F wrer-wry gEh i HATa IcEFA(MEC): -
(A) Increases - el JEaT & (B) Decreases - gedl STdT &
(C) remains constant - FR2R AT & (D) None of the above - 3RFd H & HIg Al

35. Which of the following is a real investment: -

fAmfaf@a # @ i ar areafas [_fEgr §:-

(A) Buying shares - 9% @iaT

(B) Opening a deposit account with a bank - s& 3 STHT @dT Wrele
(C) Buying the old factory - Qe therd Tliear

(D) Construction of buildings - 7=t & faAToT




36. According to Keynes, there is a relationship between rate of interest and liquidity
preference: -

ol F AR, SATS Y G TG AT HTAATT F Faer g¥em &:-
(A) Direct - 9cgat (B) Indirect - 319cT&T
(C) Reciprocal - faadia (D) None of the above - 3TRIad & I HIg =TT

37. According to Keynes, there is a relationship between the supply of money and the
rate of interest: -

FH F AR, FAT Y Gfel T sAqTeT Y T A T §iell o:-

(A) Direct- YcgaT (B) Reciprocal - famdra
(C) Imaginary-Hledfaien (D) None of the above - 3TRIFd H & IS 1T

38. Who first used the concept of multiplier?

I[OT Y HTLROI FHT FANT FATYH foruar frar?

(A) R. F. Kahn - 3R.U%. ShigsT (B) Fisher - iR
(C) Marshall — AT (D) Pigou — dIa

39. What is multiplier?

I[OTF FAT 872

(A) Proportion between change in investment and change in income

- T3 7 aRader 31 3 7 aRacisr & & o1 3regara

(B) Proportion between change in investment and change in consumption
- To¥aer & aRacier qur 39seT & aRade & e & 3T

(C) Proportion between change in consumption and change in investment
- STHET I IRt T forder ¥ afacder & e &1 e

(D) Proportion between change in consumption and change in income

- 3T H IRacT TUT 3 H IRl & e T 3edred

40. Which of the following is related to the concept of Keynes's multiplier?

frfafae & @ #t a1 Few F 7o A srauron § wET 2
(A) Employment multiplier - J/STaTR I0Teh

(B) Investment multiplier - f¥aer aqore

(C) Tax multiplier - s I[0TeH

(D) None of these - 131 & SIS aTal

41. The relationship between the marginal propensity to consume and the quantity of
the multiplier is-

AT 3TN Ygfr 4T I[OrE Y AT F ey FH T g 8-
(A) Direct- 9cTaT (B) Reverse - 3ecT
(C) Both A and B - A 3R B &=t (D) None of the above - 3TRYeFd & & HIS AdT



42. The relationship between marginal propensity to save and the multiplier is:

AT s Tgfr a7 o F e A waer g o

(A) Direct- 9cJ&T (B) Reverse - faadia
(C) Infinite -3l (D) All of the above - 3WRIad T

43. If the marginal propensity to consume is 0.5, then the multiplier will be:

I WaAra swstier ygf 0.5 @), a o gom:
(A) 2.0 (B) 5.0
(C) 1.0 (D) 1.5

44. If the marginal propensity to save is 0.2, then the multiplier will be:
Ife @At Faa wgiy 0.2 Y, @Y o g

(A)4.0 (B) 5.0

(©)os (D)1.0

45. If the marginal propensity to consume is zero, then the value of the multiplier will
be equal to:

Ife WaAra swsier ygfr 4w &Y, @Y ITF FT HeT aa gom:
(A) One- T&h (B) More than one - T & 318
(C) Less than one - T&h & &H (D) None of the above - 3TRIFd H ¥ HIS A6l

46. When marginal propensity to consume is 1, the value of the multiplier will be:
o9 FAT 39T 9gfer 1 Y, @Y I[oTe FT A g

(A) One- Tsh (B) Infinite -3fedecd

(C) Zero - Y= (D) More than one - Ts & 318

47. Generally the value of the multiplier deviates between:
AT T[0T FT AT et & i Rraerer wwar 8

(A) between unit and infinity - 3eT1S 3R 3eTed & 9T (B) Less than one - SHI5
=iy
(C) Less than Zero - =T & = (D) All of the above - 3TRIad Tt

48. Which of the following element affects Keynes's multiplier principle?

frrafaf@a & & sia a1 ac Few & 7o Riqutea #t yeanfaa Fxarg?
(A) consumption function - 3T HeleT

(B) Marginal propensity to save - HiHled Sad ‘;IE‘I_ﬁf

(C) Marginal propensity to consume - EHTe 3TET 9gfd

(D) All of the above - 3TRIed T8



49. If MPC is 0.5 and initial investment is Rs.100, then the increase in total income in
the economy will be:

If& MPC 0.5 @ 3R wrfers Rafaair 100 Tw &Y aY srdegavar & For amar & gefer gt :
(A) 5 rupees - 59U (B) Rs 50 - 50 ¥4T
(C) Rs 200 - 200 9T (D) Rs 500 - 500 ¥4T

50. The formula for finding the average propensity to save is?
3w Fua vgfr fovrea 1 9 82

(A) S/Y

(B) AS / AY

(B) AS/AY(((C) 1-MPC

(D) MPC -1

51. The formula for the multiplier is:
Waﬁﬂ\? 7
(A)K= AY /Al
(B) K=AlTAY
(C) K = AY x Al
(D) K= AY - Al
(A) K = AY/AI (B) K = Al/AY(( ))Aazzzzff()
(C) K =AY x Al (D) Type equation here.
52. On which of the following is Keynes's investment multiplier based:

frafaf@a 7 @ e o Few =t Rafeer ore smafia @:
(A) On static concept - T3fdH ROT W)

(B) On Dynamic concept - aTfaefier &Rom 9¥

(C) On both A and B - A 3T Bl W

(D) None of the above - 3TRYeFd & & HIS AdT

53. Who gave the name of the real multiplier to the multiplier:

0T FY AEATI VT FT AT fFaa a7
(A) Keynes-dled (B) Hanson - g=geT
(C) Marshall— #ATeTer (D) Fisher- ftheR

54.Who said that, "Theory of Multiplier is a strange idea which has no existence."

et e &, " aore @1 RiguTa ve R ReEr @ Sree 918 saffaca adt 8.
(A) Prof. Hazlitt-9T. g<ifere (B) Prof. Samuelson - 9. FHTerHeT
(C) Prof. Marshall— 9. #TTe (D) Prof. Fisher- 9r. R

55. The process of Multiplier is-

aors 1 afeaT @l -

(A) Forward action - 3ielehel fshar (B) Backward action - 9fdisher Gfshar

(C) Both A and B - A 3iX B g1t (D) None of the above - 39RIFd & & FIS TeT



56. Who explained the liquidity preference theory?
aeran rfeaTeT fRgura $r sarear fras i

(A) Keynes-hied (B) Pigou - e[
(C) Fisher- fiheR (D) Marshall— &A1

57. "Interest is the reward for parting with liquidity for a specified period" who said?

"sTe U fAfRua sraflr & frw averar & alcamr 1 @R & fhaa wer?

(A) Robinson faedel (B) Keynes-&leq
(C) Mahal Nobis - HgTaIaI T (D) Malthus — AT

58. The rate of interest is determined by:

=aTeT # X frea garT frutRa i aret @

(A) by the balance of demand and supply of the money - FgT &7 &7 3R et & HJelel GaRT
(B) only by the demand of money - shdel HgT I HIT & SaRT

(C) only by the supply of money - sael HaT T gfcl & EaRT

(D) All of the above - 3TRIFd T

59.The relationship between investment and interest rate is:

R s R F g A Feugare:
(A) Reciprocal- faadia (B) Direct- e
(C) Both A and B - A 3iX B g1t (D) None of the above - 39RIFd & & HIS TeT

60. When the rate of interest increase, the effect on investment is-

ST SIS #Y T Fgdt § at, Rferer Wy yzard -
(A) Direct- HTer (B) Reciprocal- faudia
(C) Both A and B - A 3R B giat (D) None of the above - 3TRIed & & HIS AgT



